rEaBHeimE

BE_FF_HF+_A=Z=+—HILEE

28

Mgk ZRFZHE —_FEX
W T o T oo
REEFEEZBE 35 1,714,572 719,096
2 A FLE (78,431) (151,651)
fitt Bi 75 4R K 11 1,500
B AT 7 W R 15 B (42,197) (117,238)
B AT 7 s DA A b [ Bl TE (1,513) (1,700)
REEBZBEFH 1,592,442 450,007
" EH
8 — [ B 2 R T A5 AKOE 26,915 1,946
SRR - SNEIN i & 18,602 14,420
J #% & 2\ A 1 K 12,837 -
— [H] W 4 > 2R K 10,517 26,183
— [ e [A] #22 ) A 3 4R 3K 5,410 5
8 IR B A SR A aKA 1,534 19,674
B [ 2 A E I A AKOE 33 417
Wi i o B N )RR A1 RE 4 (208,201) (46,988)
B — [ b T N A (142,134) —
Wi A [ 7 (22,172) (116,949)
nNEERBYE (21,540) (2,179)
WMAFEEES (7,033) (1,953)
W A T & (4,528) (7,148)
BGR T — [ S [A] A (3,403) (572)
M\ — [ 3 ] 42 1 A 2 (936) -
B — BB 4 W BT A 3KOH
(kR B2 B & KB &S EY) 36 (554) (22)
W B B A ) (FUBR E A BL S KBl &S EY) 37 — 115,834
ERl PG e 39! P 95! = 47,000
tﬂ%ﬁ@%ﬁ%@ﬁ%?ﬁ — 2,223
i = /N P & < | = (25,000)
SRAT HE A2 R HG = (336)
BEXGZ (R BlaFd# (334,653) 26,555

SETCFFR BAEBARLE A



29

A B eimEaE (8

BE_FZX-F+A=1+—HILFE

TREFTHE BT AR
W T oo ik T
il 5 )
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